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QUESTION 1

The service group named websg is currently online on the sym3 node. All other nodes are running.
Consider the following partial main.cf definition:

Group websg (

SystemList = { sym1=0, sym2=1, sym3=2 }

AutoStartList = {sym2, sym3 }

FailOverPolicy = Priority

)

The operator incorrectly shuts down a critical resource in the websg service group outside of Veritas
Cluster Server.

Based on the information provided, what will happen to the websg service group?

A. It will remain partially online on the sym3 node.

B. It will switch to the sym1 node.

C. It will switch to the sym2 node.

D. It will restart on sym3 node.

Correct Answer: B

QUESTION 2

What is a benefit of the Symantec Data Loss Prevention 9.0 security architecture?

A. Communication is initiated by the detection servers inside the firewall.

B. Mutual authentication between servers is based on the Challenge Handshake Authentication Protocol (CHAP).
C. Endpoint Agent to Endpoint Server communication uses the Triple Data Encryption Standard (3DES).

D. Encryption is provided for confidential information across system components.

Correct Answer: D

QUESTION 3
Where does an incident responder find the exact matches that triggered an incident?

A. Dashboard report
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B. Incident Snapshot
C. Incident List
D. System Events report

Correct Answer: B

QUESTION 4

Where on the Endpoint Server Detail page can a system administrator configure the throttling option?
A. Agent Listener section

B. Agent Monitoring section

C. Agent Configuration section

D. Agent Filtering section

Correct Answer: C

QUESTION 5

An administrator stopped Veritas Cluster Server (VCS) on the sym1 node to remove it from the cluster. When
attempting to do this with the hasys -delete command from sym2, an error message is displayed.

What is the likely cause of this error?

A. One or more SystemList attributes still contains sym1.
B. VCS must be completely shut down on all nodes.

C. The vxfen daemon on sym1 is still running.

D. The GAB daemon on sym1 is still running.

Correct Answer: A

250-253 PDF Dumps 250-253 Study Guide 250-253 Braindumps

250-253 PDF Dumps | 250-253 Study Guide | 250-253 Braindumps 3/3


https://www.pass4itsure.com/250-253.html
https://www.pass4itsure.com/250-253.html
https://www.pass4itsure.com/250-253.html
http://www.tcpdf.org
https://www.pass4itsure.com/250-253.html
https://www.pass4itsure.com/250-253.html
https://www.pass4itsure.com/250-253.html

